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	 1- 	fdlh ç'uksÙkjh esa ^ugha* dh x.kuk µ1 gS] ^gk¡* dh 
x.kuk $1 gS rFkk ^irk ugha* dh x.kuk 0 ('kwU;) gS 
rks 5 ^ugha] 15 ^gk¡* rFkk 5 ^irk ugha* dk vkSlr eku 
D;k gS\

	 (a) 	0-04	 (b) 	0-4

	 (c) 	4-0	 (d) 	40

	 2- 	fuEufyf•r esa ls ml ,d dks pqfu, tks fdlh fu;e 
ds vUrxZr vU; ls fHkUu gS %

	 	 rk¡ck] tLrk] ihry] yksgk

	 (a) 	tLrk 	 (b) 	rk¡ck

	 (c) 	yksgk 	 (d) 	ihry

	 3-	uhps fn, x, 'kCn
		  VENTURESOME

	 	ds v{kjksa ls fdl 'kCn dks cuk;k tk ldrk gS\ 
	 (a)	 ROSTRUM 	 (b)	 TRAVERSER 
	 (c)	 SERMON 	 (d)	 SEVENTEEN

	 4- 	F, A dk HkkbZ gSA C, A dh iq=kh gSA K, F dh cgu gSA 
G, C dk HkkbZ gSA G dk pkpk@ekek dkSu gS \ 

	 (a)	 A 	 (b) 	C 

	 (c) 	 F	 (d)	 K

	 5- 	,d ?kM+h esa 4%20 cts] feuV vkSj ?k.Vs dh lqbZ ds chp 
dk dks.k gS

	 (a) 	 5° 	 (b) 	10° 
	 (c) 	 20° 	 (d) 	0°

	 6- 	fdlh vk;r ftloQh Hkqtk,¡ 18 lseh o 14 lseh gS] esa 
tks lcls cM+k òÙk [khapk tk ldrk gS] mldk {ks=kiQy gSA

	 (a) 	49 lseh2	 (b)	154 lseh2

	 (c) 	378 lseh	 (d)	1078 lseh2

	 7-	,d iafDr esa] A dk LFkku 'kq: ls 18ok¡ gS tcfd B 
dk LFkku var ls 16ok¡ gSA ;fn C dk LFkku 'kq: ls 
25ok¡ gks vkSj og A rFkk B ds fcYdqy chp esa gks rks 
iafDr esa dqy fdrus O;fDr gS\ 

	 (a) 	 47 	 (b) 	46
	 (c) 	 45	 (d) 	48

	 8-	Vªsu esa ,d vkneh us è;ku fn;k fd og feuV esa 21 
VsyhiQksu&iksLV fxu ldrk gSA ;fn vxy&cxy ds çR;sd 
nks iksLV 50 ehVj dh nwjh ij gks rks Vªsu fdl xfr ls 
xfreku gS\ 

	 (a)	 55 fdeh@?kaVk 	 (b)	57 fdeh@?kaVk 

	 (c)	 60 fdeh@?kaVk 	 (d) 	63 fdeh@?kaVk

	 9-	;fn fdlh fo'ks"k dksM esa 'DOWN' dks '3 @ 9 #' 
rFkk 'NAME' dks '# 6% 5' fy[kk tkrk gS] rks ml dksM 
esa 'MODE dks dSls fy•k tk,xk\

	 (a) 	 % 6 5 3 	 (b)	 % @ 3 #

	 (c) 	 6 % 5 3 	 (b)	 % @ 3 5

	 1. 	In answering a quiz, ‘no’ counts –1, ‘yes’ counts 
+1 and ‘don’t know’ counts 0 (zero). What is the 
average value of 5 no’s, 15 yes’s and 5 don’t 
know’s?

	 (a) 	 0.04	 (b)	 0.4
	 (c)	 4.0	 (d)	 40
	 2. 	Choose the one from the following which is 

different from the other according to some rule?
Copper, Zinc, Brass, Iron

	 (a)	 Zinc	 (b) 	Copper
	 (c) 	 Iron	 (d) 	Brass
	 3. 	Which word can be formed from the letters of the 

following word?
VENTURESOME

	 (a) 	 ROSTRUM 	 (b)	 TRAVERSER 
	 (c) 	 SERMON 	 (d) 	SEVENTEEN
	 4. 	F is the brother of A. C is the daughter of A. K is 

the sister of F. G is the brother of C. Who is the 
uncle of G?

	 (a) 	 A 	 (b) 	C 
	 (c) 	 F 	 (d) 	K
	 5. 	The angle between the minute hand and the hour 

hand of a clock when the time is 4:20 is
	 (a) 	 5° 	 (b) 	10° 
	 (c) 	 20° 	 (d) 	0°
	 6. 	The area of the largest circle which can be drawn 

inside a rectangle with sides 18 cms and 14 cms, 
is

	 (a) 	 49 cm2 	 (b) 	154 cm2 
	 (c) 	 378 cm2 	 (d) 	1078 cm2

	 7. 	In a Queue, A is eighteenth from the front while B 
is sixteenth from the end. If C is twenty-fifth from 
the front and is exactly in the middle of A and B, 
then how many persons are there in the Queue ?

	 (a) 	 47 	 (b) 	46 
	 (c) 	 45 	 (d) 	48
	 8. 	A man in a train notices that he can count 21 

telephone posts in one minute. If every two adjacent 
posts are 50 metres apart, at what speed is the train 
moving?

	 (a)	 55 km/hr 	 (b) 	57 km/hr 
	 (c)	 60 km/hr 	 (d)	 63 km/hr
	 9. 	If in a certain code ‘DOWN’ is written as ‘3 @ 9 

#’ and ‘NAME’ is written as ‘# 6 % 5’, how is 
‘MODE’ written in that code ?

	 (a) 	 % 6 5 3 	 (b) 	% @ 3 # 
	 (c) 	 6 % 5 3 	 (d) 	% @ 3 5
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	 10. 	Two positions of a dice are shown below. Identify 
the number at the bottom when the number at the 
top is ‘3’.

4

6 5

1

6 3

	 (a) 	 2 	 (b) 	4 
	 (c) 	 5 	 (d) 	None of these
	 11. 	The following chart shows the percentage of 

expenditure incurred in agriculture, transport and 
other sectors of economy in a certain year. If the 
total expenditure in agriculture is 150 crore, then 
expenditure in transport is

17.5
Transport

37.5
Agriculture

45
Other

	 (a) 	 70 crore 	 (b)	 60 crore 
	 (c) 	 40 crore 	 (d) 	20 crore
	 12. 	The following table gives the number of persons 

with different incomes in a country in a certain 
year

Income
(in thousand units)

0-1 1-2 2-3 3-5

No. of persons (in 
lakhs)

13 90 81 117

		  What is the average income per head (in thousand 
units)?

	 (a) 	 26.9 	 (b) 	2.69 
	 (c)	 16.9 	 (d) 	3.96
	 13. 	An inspector rejects 0.08% of the metres as 

defective. How many will be examined to reject 2 
metres ?

	 (a) 	 1500 	 (b)	 2000 
	 (c) 	 2500 	 (d) 	3500
	 14. 	The ratio of the volume of a cube to that of the 

biggest sphere which will fit inside the cube is
	 (a) 	 4 : p 	 (b) 	4 : 3p 
	 (c) 	 2 : p 	 (d) 	6 : p
	 15. 	Which of the following is NOT associated with 

non-verbal communication?
	 (a) 	 Body language 	 (b) 	Conversation
	 (c) 	 Facial expression 	 (d) 	Symbol

	10-	uhps fn, x, fp=kksa esa ,d ikals dh nks fLFkfr;k¡ n'kkZbZ 
xbZ gSA ;fn Åij vad ^3* gS rks uhps dk vad Kkr 
dksft,%

4

6 5

1

6 3

	 (a)	 2	 (b)	4

	 (c)	 5	 (d) 	buesa ls dksbZ ugha

	11-	uhps fn;k x;k js•kfp=k fdlh o"kZ esa vFkZO;oLFkk ds 
Ñf"k] ;krk;kr o vU; {ks=kksa ij fd;s x;s çfr'kr O;; 
n'kkZrk gSA ;fn Ñf"k ij dqy O;; 150 djksM+ gks rks 
;krk;kr ij fd;k x;k O;; gSA

17.5
;krk;kr

37.5
o`Qf"k

45
vU;

	 (a) 	70 djksM+	 (b) 	60 djksM+

	 (c) 	40 djksM+	 (d) 	120 djksM+

	12-	uhps nh xbZ lkj.kh esa fdlh o"kZ esa fdlh ns'k ds 
vyx&vyx vk;q oxZ ds O;fDr;ksa dh la[;k nh xbZ 
gS%

vk; (g”kkj bdkbZ esa) 0-1 1-2 2-3 3.5

O;fDr;k s a dh la[;k 
(yk[kksa esa)

13 90 81 117

	 	izfr O;fDr vkSlr vk; (g”kkj bdkbZ esa) D;k gS\
	 (a) 	 26.9 	 (b) 	2.69 
	 (c)	 16.9 	 (d) 	3.96

	13- 	,d fujh{kd 0-08» ehVjksa dks •jkc gksus ds dkj.k 
jí dj nsrk gSA 2 ehVjksa dks jí djus ds fy, fdrus 
ehVjksa dk ijh{k.k djuk gksxk \

	 (a)	 1500	 (b) 	2000

	 (c) 	2500	 (d) 	3500

	14- 	,d ?ku ds vk;ru rFkk ml /u ds vUnj lek tkus 
okys lcls cM+s xksys ds vk;ru dk vuqikr gksxkA

	 (a) 	4 % p	 (b) 	4 % 3p

	 (c) 	2 % p	 (d) 	6 % p

	15- 	fuEufyf•r esa ls dkSu xSj&ekSf•d lEçs"k.k ls lEcfU/r 
ugha gS \

	 (a) 	'kkjhfjd gko&Hkko	 (b) 	ckrphr

	 (c) 	psgjs dks vfHkO;fDr	 (d) 	çrhd
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	 16. 	One, who believes that all things and events in life 
are predetermined, is a/an

	 (a) 	 fatalist 	 (b) 	puritan 
	 (c) 	 egoist 	 (d) 	tyrant
	 17. 	If 8th December, 2007 was Saturday, which day of 

the week was 8th December, 2006?
	 (a) 	 Saturday 	 (b) 	Friday 
	 (c) 	 Monday 	 (d) 	Tuesday
	 18. 	Which of the following diagrams best indicates 

the relation among Profit, Dividend and Bonus?

	 (a)	 	 (b)	

	 (c)	 	 (b)	

	 19.	 What is the ratio of the areas of inscribed and 
circumscribed circles of a square ?

	 (a) 	 1 : 2 	 (b) 	 2 :1  

	 (c) 	 2 : 3  	 (d) 	 3 :1

	 20. 	If x + y + z = 13, then what is the maximum value 
of (x – 2) (y + 1) (z – 3) ?

	 (a)	 25 	 (b)	 30 
	 (c) 	 54 	 (d)	 27
	 21.	 Kittu is in between Mohan and Sohan. Raju is to 

the left of Sohan and Shyam is to the right of 
Mohan. If Sohan is sitting to the left of Mohan and 
all are sitting facing North, then who is on the 
extreme right ?

	 (a) 	 Kittu 	 (b) 	Mohan 
	 (c)	  Sohan 	 (d) 	Shyam
	 22. 	A man walks 15 m towards South from a fixed 

point. From there he goes 12 m. towards North and 
then 4 m towards West. How far and in which 
direction is he from the fixed point?

	 (a) 	 3 m South 
	 (b) 	 7 m South-West 
	 (c) 	 5 m South-West 
	 (d) 	 5 m South-East
	 23. 	Pointing to a woman in a photograph, a man says, 

“her mother’s mother is the mother of my father.” 
How is the man related to the woman in 
photograph ?

	 (a) 	 Uncle 
	 (b) 	 Maternal cousin 
	 (c) 	 Grand son 
	 (d)	 None of these

	16-	og th ekurk gS fd lHkh phtsa vkSj thou dh ?kVuk,¡ 
iwoZ fu/kZfjr gksrh gS] gS ,d

	 (b) 	HkkX;oknh	 (b) 	uSfrdoknh

	 (c) 	vgaoknh	 (d)	 rkuk'kkg

	17- 	;fn 8 fnlEcj] 2007 dks 'kfuokj Fkk rks 8 fnlEcj 
2006 dks lIrkg dk dkSu lk fnu Fkk\

	 (a) 	'kfuokj 	 (b) 	'kqozQokj

	 (c) 	lkseokj 	 (b) 	eaxyokj

	18- 	uhps fn;s x;s fp=kksa esa ykHk] ykHkka'k vkSj cksul dks 
n'kkZus okyk lcls vPNk laca/ dkSu&lk gS\

	 (a)	 	 (b)	

	 (c)	 	 (b)	

	19- 	,d oxZ ds varoZ`r rFkk cfgoZ`r ds {ks=kiQyksa dk vuqikr 
D;k gS\

	 (a) 	 1 : 2 	 (b) 	 2 :1  

	 (c) 	 2 : 3  	 (d) 	 3 :1

	 20. 	;fn x + y + z = 13, rks (x – 2) (y + 1) (z – 3) dk 	
vf/dre eku D;k gS\

	 (a)	 25 	 (b) 	30 
	 (c) 	 54 	 (d) 	27

	21-	fdV~Vw eksgu o lksgu ds chp esa gSA jktw] lksgu ds 
ck;sa rjiQ rFkk ';ke] eksgu ds nk;sa rjiQ gSA ;fn lksgu] 
eksgu ds ck;s cSBk gS vkSj lHkh mÙkj dh rjiQ eq¡g 
djds cSBs gSa rks lcls nk;sa dkSu gS\

	 (a)	 fdV~Vw	 (b) 	eksgu

	 (c) 	lksgu	 (d) 	';ke

	22- 	,d O;fDr ,d fuf'pr fcUnq ls nf{k.k dh vksj 15 
eh- pyrk gS ogk¡ ls og 12 eh- mÙkj dh vksj] rRi'pkr~ 
4 eh- if'pe dh vksj pyrk gSA og fuf'pr fcUnq ls 
fdruh nwjh ij rFkk fdl fn'kk esa gS\

	 (a)	 3 eh- nf{k.k

	 (b) 	7 eh- nf{k.k if'pe

	 (c) 	 5 eh- nf{k.k if'pe

	 (d) 	5 eh- nf{k.k iwoZ

	23-	fdlh fp=k esa ,d L=kh dh vksj bafxr djrs gq,] ,d 

vkneh us dgk] ¶bldh ek¡ dh ek¡ esjs firk dh ek¡ gSA¸ 

vkneh dk fp=k okyh L=kh ls D;k lEcU/ gS\

	 (a) 	pkpk	 (b) 	eesjk HkkbZ

	 (c) 	ikS=k	 (d) 	buesa ls dksbZ ugha
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	 24. 	What is the total number of triangles in the figure 
given below?

	 (a) 	 16 	 (b) 	18
	  (c) 	 24 	 (d) 	None of these
	 25. 	The sum of seven consecutive natural numbers is 

1617. How many of these are prime numbers?
	 (a) 	 1 	 (b)	  2 
	 (c) 	 3 	 (d) 	4

	 26. 	If 
p 3
q 11
= , then 

22p 34q
33p 3q

−
−

 is equal to

	 (a) 	 – 16/3 	 (b)	 – 18/3 
	 (c) 	 – 15/3 	 (d) 	– 14/3
	 27. 	In an imaginary language, the digits 0, 1, 2, 3, 4, 

5, 6, 7, 8, 9 are substituted by a, b, c, d, e, f, g, h, 
i, j. If 10 is written as ba, then the value of [dc × f 
– (bf – d) × d] is equal to

	 (a)	 bcf	 (b)	 bce
	 (c) 	 bea	 (d) 	bba
	 28. 	How many times 2 will appear in the prime 

factorization of the product 1×2×3×4×....×50 ?
	 (a) 	 47 	 (b) 	48 
	 (c) 	 50 	 (d)	 None of these
	 29. 	Six persons P, Q, R, S, T and U are sitting in a 

circle facing one another. P is sitting in front of Q; 
Q is sitting to the right of T and left of R; P is sitting 
to the left of U and right of S. Who is sitting 
opposite to R?

	 (a) 	 U 	
	 (b) 	 T
	 (c) 	 R 	
	 (d) 	 Cannot be determined.
	 30. 	Statements : All books are leaves. Some leaves 

are jungles. No jungle is a box. 
		  Conclusions : 	 I. Some jungles are books.
					     II. No book is a box.
					     III. Some leaves are boxes
	 (a) 	 Only I follows
 	 (b)	 Only II follows 
	 (c) 	 Only III follows 
	 (d)	 None follows

	24-	uhps fn;s x;s fp=k esa dqy fdrus f=kHkqt gSa\

	 (a) 	 16 	 (b) 	18

	  (c) 	 24 	 (d) 	buesa ls dksbZ ugha

	25-	lkr Øekxr çkÑfrd la[;kvksa dk ;ksx 1617 gSA buesa 
ls fdruh la[;k,¡ vHkkT; gS\

	 (a)	 1	 (b) 	2

	 (c)	 3	 (d) 	4

	 26. 	;fn  p 3
q 11
=  rc  

22p 34q
33p 3q

−
− ,cjkcj gS

	 (a) 	 – 16/3 ds	 (b)	 – 18/3 ds

	 (c) 	 – 15/3 ds	 (d) 	– 14/3 ds

	27-	,d dkYifud Hkk"kk esa vadks 0] 1] 2] 3] 4] 5] 6] 
7] 8] 9 dks a, b, c, d, e, f, g, h, i, j, fy•k tkrk gSA 
;fn 10 dks ba  fy•k tk, rks [dc × f – (bf – d) × d] 
dk eku gksxkA 

	 (a) 	 bcf 	 (b) 	bce

	 (c) 	 bea	 (d) 	bba

	28-	xq.kuiQy 1×2×3×4×..........× 50 ds vHkkT; xq.ku•.M 
djus ij 2 fdruh ckj vk,xk\ 

	 (a) 	 47 	 (b) 	48

	 (c)	 50	 (d) 	buesa ls dksbZ ugha

	29-	N% O;fDr P, Q, R, S, T o U ,d o`Ùkkdkj ?ksjs esa 
ijLij lEeq• cSBs gSA P, Q ds lkeus cSBk gSA Q, T ds 
nkfguh vksj rFkk R ds ck;ha vkSj cSBk gSA P, U ds ck;ha 
vksj rFkk S ds nk;ksa vkSj cSBk gSA R ds foijhr dkSu 
cSBk gS\

	 (a) 	 U	 	

	 (b) 	 T 
	 (c)	 R		

	 (d) 	 fu/kZfjr ugha fd;k tk ldrk

	30- 	dFku% lHkh iqLrdsa ifÙk;k¡ gSA dqN ifÙk;k¡ ou gSA dksbZ 
Hkh ou lanwd ugha gSA

	 	fu"d"kZ% 	 I- oqQN ou iqLrdsa gSA
	 		 	 	 II.	 dksbZ Hkh iqLrd lanwd ugha gSA

	 		 	 	 III. 	dqN ifÙk;ksa lUnwd gSA 

	 (a) 	dsoy I  vuqlj.k djrk gSA

	 (b) 	dsoy II vuqlj.k djrk gSA

	 (c) 	dsoy III vuqlj.k djrk gSA

	 (d) 	dksbZ vuqlj.k ugha djrk gSA
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	 31. 	If the following words are arranged in alphabetical 
order, which word will come in the middle?

		  Electric, Elector, Elect, Election, Electrode
	 (a) 	 Elector	 (b) 	Electric
	 (c) 	 Election	 (d) 	Electrode
	 32. 	A man is performing yoga with his head down and 

legs up. His face is towards the west. In which 
direction will his left hand be?

	 (a) 	 East 	 (b)	 West 
	 (c)	 North 	 (d)	 South
	 33. 	A batsman in his 20th innings makes a score of 110 

and thereby increases his average by 4. What is his 
average after 20th innings?

	 (a) 	 30 	 (b)	 34 
	 (c) 	 36 	 (d) 	43
	 34. 	How many meaningful English words can be 

formed by using the letters of the word ‘ALEP’ ?
	 (a) 	 1 	 (b) 	2 
	 (c) 	 3 	 (d) 	More than 3
	 35. 	A is the brother of B. C is the brother of A.
		  To establish relationship between B and C, which 

of the following information(s) is(are) required?
	 (i) 	 Gender of C 
	 (ii)	  Gender of B
	 (a) 	 Either (i) or (ii) 
	 (b)	 Both (i) and (ii)
	 (c) 	 Only (i) 
	 (d) 	 Only (ii)
	 36. 	Arrange the following words in a logical and 

meaningful order:
	 1.	  Poverty	
	 2. 	 Population
	 3. 	 Death
	 4. 	 Unemployment 
	 5. 	 Diseases
	 (a)	 2, 1, 4, 3, 5	 (b)	 2, 4, 1, 5, 3 
	 (c) 	 1, 4, 2, 5, 3	 (d) 	1, 2, 3, 4, 5
	 37. 	Which among the following :
	 1. 	 ×, =, ÷ 	 2. 	=, ÷, × 
	 3. 	 =, ×, ÷ 	 4.	  ÷, =, ×
		  Appropriately replaces *, + and  respectively in 

90 * 6 + 8  2?

	 (a) 	 1 	 (b) 	2 

	 (c) 	 3 	 (d) 	4

	31-	;fn fuEufyf[kr 'kCnksa dks o.kkZuqØekuqlkj O;ofLFkr 
fd;k tk, rks dkSu&lk 'kCn eè; esa vk,xk\

	 	Electric Elector- Elect, Election, Electrode
	 (A) 	Elector 	 (b) 	Electric 

	 (c) 	Election	 (d) 	Electrode

	32-	,d O;fDr ;ksx dj jgk gS vkSj mldk flj uhps vkSj 
ik¡o Åij gSaA mldk eq¡g if'pe dh vksj gSA mldk 
ck;k¡ gkFk fdl fn'kk esa gksxk\

	 (a)	 iwoZ	 (b) 	if'pe

	 (c) 	mÙkj 	 (d)	nf{k.k

	33-	,d cYysckt us viuh 20oha ikjh esa 110 dk Ldksj 
cuk;k vkSj mlus viuh vkSlr esa 4 oQh c<+r dhA 20oha 
ikjh ds i'pkr~ mldks vkSlr D;k gksxh\

	 (A)	 30	 (b) 	34

	 (c) 	36	 (d) 	43

	34- 	'kCn 'ALEP' ds v{kjksa dk ç;ksx djds vaxzsth ds 
fdrus vFkZiw.kZ 'kCnksa dh jpuk dh tk ldrh gS\ 

	 (a) 	1 	 (b) 	2 

	 (c) 	3	  (d) 	rhu ls vf/d

	35- 	A, B dk HkkbZ gSA C, A dk HkkbZ gSA ;fn B vkSj C ds 
chp lEcU/ Kkr djuk gS rks fuEu esa dkSu lh lwpukvksa 
dks tkuuk vko';d gS\

	 (i) 	C  dk fyax 

	 (ii) 	B  dk fyax

	 (a) 	;k (i) ;k (ii) 

	 (b) 	nksukas (i) vkSj (ii)

	 (c) 	osQoy (i) 

	 (d) 	osQoy (ii)

	36- 	uhps fn;s x;s 'kCnksa dks rkfdZd o lkFkZd ozQekuqlkj 
O;O;fLFkr dhft;s%

	 1-	 xjhch	 2- 	tula[;k 

	 3- 	e`R;q	 4-	csjks”kxkjh

	 5-	 chekfj;k¡
	 (a) 	 2,1,4,3,5 	 (b) 	2,4,1,5,3
	 (c) 	 1,4,1,5,3	 (d) 	1,2,3,4,5

	 37. 	fuEufyf•r esa ls dkSu&lk
	 1. 	 ×, =, ÷ 	 2. 	=, ÷, × 
	 3. 	 =, ×, ÷ 	 4.	  ÷, =, ×

		  ozQe'k% * + rFkk, dks 90 * 6 +  8  2 esa mfpr :i ls 	
çfrLFkkfir djrk gS?

	 (a) 	 1 	 (b) 	2 

	 (c) 	 3 	 (d) 	4
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	 38.	 Two pipes can fill a tank in 10 hours and 12 hours 
respectively while the third pipe empties the tank 
in 20 hours. If all the three pipes operate 
simultaneously, in how much time will the tank be 
filled?

	 (a) 	 7 hours 30 minutes 	 (b) 	7 hours
	 (c)	  6 hours 30 minutes	 (d) 	2 hours
	 39. 	The difference between yearly simple interest and 

compound interest reckoned half yearly on ̀  1,200 
for one year at 10% per annum is

	 (a) 	 ` 2.50 	 (b) 	` 3.00 
	 (c) 	 ` 4.00 	 (d) 	` 6.00
	 40. 	A motorboat whose speed in still water is 15 km/

hr, goes 30 km downstream and comes back in 4 
hrs and 30 minutes. The speed of the stream (in 
km/hr) is

	 (a) 	 10 	 (b) 	6 
	 (c) 	 5 	 (d) 	4
	 41. 	Aarti is older than Saumya. Muskan is elder to 

Aarti but younger than Kashish. Kashish is older 
than Saumya. Saumya is younger than Muskan. 
Gargi is the eldest. Who is the youngest?

	 (a) 	 Saumya	 (b) 	Kashish 
	 (c) 	 Aarti 	 (d) 	Muskan
		  The pie-chart given below shows the distribution 

of land in a state under various food crops. Study 
the chart and answer the question numbers 42 to 
45.

Wheat 
72° Paddy 

72°

99°  
Other45°  

Maize

Barley  
60°

Jowar18°

Bajra
18°

	 42.	 Which combination of crops represents the 50% 
of the total area of land under food crops?

	 (a) 	 Wheat, Barley and Jowar 
	 (b) 	 Paddy, Wheat and Jowar
	 (c) 	 Paddy, Wheat and Barley 
	 (d) 	 Bajra, Maize and Paddy
	 43. 	If the total area under Jowar was 1.5 million acres, 

then what is the area (in million acres) under 
Paddy?

	 (a) 	 4.5 	 (b)	 6.0 
	 (c) 	 7.5 	 (d) 	9.0

	38- 	nks ikbi ,d Vadh dks Øe'k% 10 ?kaVs o 12 ?kaVs esa 
Hkj nsrs gSa tcfd rhljk ikbi Vadh dks 20 ?kaVs esa •kyh 
dj nsrk gSA ;fn rhuksa ikbiksa dks ,d lkFk ifjpkfyr 
fd;k tk, rks Vadh fdrus le; esa iwjh Hkj tk,xh\

	 (a) 	 7 ?kaVs 30 feuV	 (b) 	7 ?kaVs

	 (c) 	 6 ?kaVs 30 feuV	 (d) 	2 ?kaVs

	39- 	̀  1]200 esa 10 okf"kZd C;kt nj ls ,d o"kZ ds okf"kZd 
lk/kj.k C;kt vkSj pØo`f¼ C;kt (;fn pØo`f¼ C;kt 
Nekgh gks) esa vUrj gksxk

	 (a) 	̀  2-50	 (b) 	̀ 3-00

	 (c) 	̀  4-00	 (d) 	` 6-00

	40-	,d eksVj cksV dks] ftldh fLFkj ikuh esa xfr 15 
fdeh@?kaVk gS] ikuh ds cgko oQh fn'kk esa 30 fdeh- 
tkdj okil vkus esa 4 ?kaVs 30 feuV yxrs gSaA ikuh 
ds cgko dh xfr gS (fdeh@?kaVk esa)

	 (a) 	10	 (b) 	6

	 (c) 	5	 (d) 	4

	41- 	vkjrh] lkSE;k ls cMh gSA eqLdku] vkjrh ls cMh gS 
ysfdu df'k'k ls NksVh gSA df'k'k] lkSE;k ls cMh gS 
lkSE;k] eqLdku ls NksVh gSA xkxhZ lcls cMh gSA dkSu 
lcls NksVh gS\

	 (a) 	lkSE;k	 (b)	df'k'k

	 (c) 	vkjrh	 (d) 	eqLdku

uhps fn;s x;ss ikbZ&pkVZ esa fdlh çns'k esa fofHkUu •k| iQlyksa 
ds vUrxZr tehu dk forj.k n'kkZ;k x;k gSA bl pkVZ dk 
vè;;u dj ç'uksa 42 ls 45 rd dk mÙkj nhft,A

xsgw¡
72°tkS

36°

/ku
 72°

99°  
vU;45°  

eDdk
ckk
tj
k 1

8°  Tokj 18°  

	42- 	fdu iQlyksa dk lewg •k| iQlyksa ds vUrxZr vkus 
okyh dqy tehu ds 50» {sk=k dks n'kkZrk gS \ 

	 (a) 	xsgw¡ tkS o Tokj

	 (b) 	/ku] xsgw¡ o Tokj

	 (c) 	/ku] xsgw¡ o tkS 	

	 (d)	 cktjk] eDdk o /ku

	43- 	;fn Tokj osQ vUrxZr oqQy {sk=kiQy 1.5 fefy;u ,dM+ 
gS] rks /ku osQ vUrxZr oqQy {ks=kiQy (fefy;u ,dM+ 
esa) fdruk gksxk\

	 (a) 	4-5	 (b) 	6-0

	 (c) 	7-5	 (d)	9-0
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	 44. 	If the production of Wheat is six times that of 
Barley, then what is the ratio between the yield per 
acre of Wheat and Barley?

	 (a) 	 2 : 1 	 (b)	 2 : 3 
	 (c) 	 3 : 2 	 (d) 	3 : 1
	 45.	 If the total area under crops goes up by 25% and 

the area under Wheat production goes up by 12.5% 
of the current area, what will be the angle 
pertaining to Wheat crop in the new pie-chart?

	 (a) 	 76.8° 	 (b) 	72° 
	 (c) 	 64.8° 	 (d)	  62.4°
	 46. 	The number of rectangles/squares in the rectangle 

is
	 (a) 	 18 	 (b) 	17 
	 (c) 	 16 	 (d) 	None of these
	 47. 	The digit at unit place of 1717 is
	 (a) 	 1 	 (b) 	3 
	 (c) 	 7 	 (d) 	9
	 48. 	The digit ‘3’ can be written in 3 ways as follows: 

3 = 2 + 1 = 1 + 1 + 1
		  (order of addition of numbers is not important)
		  According to the above, in how many ways 5 can 

be written using digits less than or equal to 5?
	 (a) 	 8 	 (b) 	7 
	 (c) 	 6 	 (d)	  5
	 49.	 ‘Zero’ is
	 (a) 	 an even integer 
	 (b) 	 an odd integer
	 (c) 	 neither even nor odd 
	 (d) 	 even and odd both
	 50. 	Two words are given : NOT and TONE. These 

words represent some numbers, if we add them, 
we get the number 9000 i.e.

		  N O T
             	+ T O N E
		  9 0 0 0
		  Which number will be represented by the word 

NET?
	 (a) 	 264 	 (b) 	673 
	 (c) 	 246 	 (d) 	628
	Directions for answering question numbers from 51 to 56. 
The following questions consist of two statements : one 
as ‘Assertion (A)’ and the other as ‘Reason (R)’. Examine 
these carefully and select the correct answer from the 
codes given below :

	44- 	;fn xsgw¡ dh iSnkokj] tks dh iSnkokj ls N% xquh gks] rks 
izfr ,dM+ xsgw¡ o tks dh iSnkokj dk vuqikr D;k gksxk\

	 (a) 	2 % 1	 (b) 	2 % 3

	 (c) 	3 % 2	 (d) 	3 % 1

	45-	;fn •k| iQlyksa ds varxZr vkus okys iwjs {sk=kiQy esa 
25» dks c<+ksrjh gks tk, vkSj xsgw¡ ds varxZr vkus okyk] 
{ks=kiQy 12-5» c<+ tk, rks u;s ikbZ&pkVZ esa xsgw¡ osQ 
fy;s cuk;k tkus okyk dks.k D;k gksxk\

	 (a)	 76.8°	 (b)	 72°

	 (c)	 64.8°	 (d)	 62.4°

	 46. 	vk;kr

esa vk;rksa@oxks± dh la[;k gS
	 (a) 	 18 	 (b) 	17 

	 (c) 	 16 	 (d) 	buesa ls dksbZ ugha

	 47. 	1717 bdkbZ osQ LFkku ij vad gksxk
	 (a) 	 1 	 (b) 	3 
	 (c) 	 7 	 (d) 	9

	 48. 	vad ^3* dks 3 izdkj ls fuEufyf[kr rjhosQ ls fy[kk 
tk ldrk gS%

	 	3 = 2 + 1 = 1 + 1 + 1
	 	(vadksa osQ ;ksx dk ozQe egÙoiw.kZ ugha gS)

	 	mi;qZDr osQ vuqlkj] 5 ;k 5 ls de vadksa dk iz;ksx 
djosQ 5 dks fdrus izdkj ls fy[kk tk ldrk gS\

	 (a) 	 8 	 (b) 	7 
	 (c) 	 6 	 (d) 	5

	 49. 	^'kwU;* gS
	 (a) 	 ,d lEiw.kZ la[;k	 (b) 	,d fo"keiw.kZ la[;k 

	 (c) 	 u le u fo"ke	 (d) 	le vkSj fo"ke nksuks

	 50. 	nks 'kCn fn;s x;s gSa% NOT rFkk TONE A ;s 'kCn oqQN 
la[;k,¡ fu:fir djrs gSaA budks tksM+us ij ge la[;k 
9000 izkIr djrs gSa tSls fd

		  N O T
             	+ T O N E

		  9 0 0 0

	 	'kCn NET }kjk dkSu lh la[;k fu:fir gksxh\

	 (a) 	 264	 (b) 	673

	 (c) 	 246	 (d) 	628

iz'u la 51 ls ls 56 rd mÙkj nsus ds fy, funZs'k

uhps fn, x;s iz'uksa esa nks dFku fn, x, gSa% ,d ^vfHkdFku  
(A)' rFkk nwljk ̂ roZQ (R)* gSA  lko/kuh ls budks tk¡p djds 
fuEufyf•r dksM esa lghs  mÙkj dk pquko djsa%
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	 I. 	 Both (A) and (R) are true and (R) is the 
correct explanation of (A).

	 II.	  Both (A) and (R) are true, but (R) is not the 
correct explanation of (A).

	 III.	  (A) is true, but (R) is false.

	 IV. 	 (A) is false, but (R) is true.
	 51. 	Assertion (A) : Economic justice is concerned 

with giving all the members of society a fair share.
		  Reason (R): The possible criteria of distribution 

are equity, equality and need.
	 (a) 	 I 	 (b)	  II 
	 (c) 	 III 	 (d)	  IV
	 52. 	Assertion (A): ‘Grapes are sour’ attitude is an 

example of defense mechanism in psychology.
		  Reason (R): Rationalisation can be used to avoid 

admitting disappointment.
	 (a) 	 IV 	 (b)	 III 
	 (c) 	 II 	 (d)	  I
	 53. 	Assertion (A) : India is world’s second most 

populous country.
		  Reason (R) : The problem of unemployment is 

increasing with the increase in population in India.
	 (a) 	 I	 (b) 	II 
	 (c) 	 III 	 (d) 	IV
	 54.	 Assertion (A) : There is no difference between 

‘policy making’ and ‘decision making’.
		  Reason (R) : Policy refers to the formulation of a 

particular plan or course of action by the 
government or an organization.

	 (a) 	 I 	 (b) 	II 
	 (c) 	 III 	 (d) 	IV
	 55. 	Assertion (A) : The training in the competition 

period aims at achieving and maintaining top form.
	 	 Reason (R) : Top form once achieved can last for 

a prolonged period of time.
	 (a) 	 I 
	 (b)	  II 
	 (c) 	 III 
	 (d) 	 IV
	 56. 	Assertion (A) : The rate of migration from the 

hilly areas of Uttarakhand has increased after it 
was formed in the year 2000.

	 	 Reason (R) : Migration leads to abandonment of 
villages which causes degradation of land.

	 (a) 	 I 	 (b)	 II 
	 (c) 	 III 	 (d) 	IV

	 I.	 (A) 	rFkk (R) nksuksa lR; gSa rFkk (R), (A) dhs 
lgh O;k[;k gSA

	 II.	 (A) rFkk (R) nksuksa lR; gSa fdUrq (R), (A) dh 
lgh O;k[;k ugha gSA

	 III.	 (A) lR; gS] fdUrq (R) vlR; gSA

	 IV.	 (A) vlR; gS] fdUrq (R) lR; gSA

	51-	vfHkdFku (A): vkfFkZd leku ds lHkh lnL;ksa dks 
U;k;iw.kZ va'k nsus ls laca/ j•rk gSA

		 rdZ (R): U;k;laxrrk] vkSj vko';drk forj.k ds 
laHkkfor ekinaM gSaA 

	 (a) 	 I	 (b)	 II 
	 (c) 	 III 	 (d)	  IV

	52-	vfHkdFku (A): euksfoKku esa ̂ vaxwj •êðs gSa* n`f"Vdks.k 
j{kkRed çfrfØ;k dk ,d mnkgj.k gSA

	 	rdZ (R): fujk'kk dks Lohdkj djus ls cpus ds fy, 
;qfDrdj.k dk ç;ksx fd;k tk ldrk gSA

	 (a) 	 IV 	 (b)	 III 
	 (c) 	 II 	 (d)	  I

	53-	vfHkdFku (A): Hkkjr fo'o dk nwljk lokZf/d 
tula[;k okyk ns'k gSA

	 	rdZ (R): Hkkjr esa tula[;k o`f¼ ds lkFk csjks”kxkjh 
dh leL;k c<+ jgh gSA

	 (a) 	 I 	 (b)	 II 
	 (c) 	 III 	 (d)	  IV

	54-	vfHkdFku (A): ^uhfr fuekZ.k* rFkk ^fu.kZ; ysuk* esa 
dksbZ varj ugha gSA

	 	rdZ (R): ljdkj ;k ,d laxBu }kjk ,d fo'ks"k ;kstuk 
;k dk;Z dh çfØ;k dks fu:fir djus dks uhfr&fuekZ.k 
crk;k x;k gSA

	 (a) 	 I	 (b)	 II
	 (c) 	 III 	 (d)	  IV

	55- 	vfHkdFku (A): çfr;ksfxrk ds le; çf'k{k.k dk mís'; 
lokZsÙke voLFkk dks çkIr djuk vkSj mls cuk, j•uk 
gSA

	 	rdZ (R): ,d ckj çkIr dh xbZ lokZsÙke voLFkk 
nks?kZdkyhu le; rd jg ldrh gSA

	 (a) 	 I 	 (b)	 II 
	 (c) 	 III 	 (d)	  IV

	56- 	vfHkdFku (A): mÙkjk•aM ds igkM+h {ks=kksa ls] blds 
o"kZ 2000 esa jkT; cuus ds mijkar] iyk;u dks nj esa 
o`f¼ gqbZ gSA

	 	rdZ (R): iyk;u ls xk¡oksa dk ifjR;kx gks tkrk gS 
ftlls Hkwfe dk fuEuhdj.k gksrk gSA

	 (a) 	 I 	 (b)	 II 
	 (c) 	 III 	 (d)	  IV
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Answer question numbers 57 to 59 based on the data :
The following data shows the sales of books (in 
thousands) in five branches of a publishing house in two 
years 2014 and 2015 :

Branches →

Year ↓  B1 B2  B3  B4  B5

2014 68 87 90 63 52
2015 72 73 100 77 78

	 57. 	What is the average sales of books (in thousands) 
of the publishing house through these branches in 
the year 2014 ?

	 (a) 	 70 	 (b)	 72 
	 (c) 	 75 	 (d)	 80
	 58.	 In which branch of the publishing house, the 

difference between the sales of books (in thousands) 
in two years, is maximum ?

	 (a) 	 B2 	 (b) 	B3 
	 (c) 	 B4 	 (d) 	B5

	 59. 	Total sales of the branch B3 for both years is what 
percent of total sales of all the branches for both 
the years?

	 (a) 	 25% 	 (b)	 24% 
	 (c) 	 22% 	 (d) 	20%
	 60.	 You are in a bus. The bus reaches your stop but 

still you have not purchased the ticket because of 
heavy rush. What will you do?

	 (a) 	 Jump out quickly to avoid embarrassment.
	 (b) 	 Call the conductor, give him the money and 

get the ticket.
	 (c) 	 Hand the money to someone sitting nearby 

to give it to the conductor.
	 (d) 	 Give the money to the driver.
	 61. 	Free notebooks were distributed equally among 

children. The number of notebooks each child got 
was one-eighth of the number of children. Had the 
number of children been half, each child would 
have got 16 notebooks each. How many notebooks 
were distributed in total?

	 (a) 	 32 	 (b)	 128 
	 (c) 	 512 	 (d) 	256
	 62. 	You are Superintendent of Police of an area. You 

are going for a very urgent work. On way to your 
work, you come across a person who is grievously 
injured. What will you do?

	 (a) 	 Leave him and proceed to your destination.
	 (b) 	 Carry the injured person to the hospital.

fuEufyf•r vk¡dM+s ,d çdk'ku laLFkk dh ik¡p 'kk•kvksa 	
}kjk nks o"kks± 2014 o 2015 esa dh xbZ iqLrdksa dh fcozQh 
(g”kkj esa) dks n'kkZrs gS%

'kk•k,¡ →

o"kZ ↓  B1 B2  B3  B4  B5

2014 68 87 90 63 52
2015 72 73 100 77 78

mijksDr vk¡dM+ksa ij vk/kfjr ç'u ls 57 ls 59 rd dk mÙkj nhft;sA 

	57-	çdk'ku laLFkk dh bu ik¡p 'kk•kvksa }kjk] fdrkcksa dh 
vkSlr fcØh (g”kkj esa) o"kZ 2014 esa fdruh gS\

	 (a) 	70 	 (b)	72

	 (c) 	75 	 (d) 	80

	58-	çdk'ku laLFkk dks fdl 'kk•k dk] nks o"kkZs dh iqLrdksa 
dh fcØh (g”kkj esa) dk vUrj lokZf/d gS\

	  (a)	 B
2 	 (b) 	B3 

	 (c) 	 B4 	 (d) 	B5

	59- 	B3 'kk•k dh nksuksa o"kks± dh dqy fcØh lHkh 'kk•kvksa 
dh nksuksa o"kks± dh dqy fcØh dk D;k çfr'kr gS\

	 (a) 	 25%	 (b)	 24%
	 (c) 	 22%	 (d) 	20%

	60- 	vki cl esa tk jgs gSA cl vkids xarO; LFkku ij igq¡p 
xbZ gS] ijUrq vf/d HkhM+ gksus ds dkj.k vkius vHkh 
rd fVdV ugha fy;k gSA vki D;k djsaxs\

	 (a) 	'kfe±nxh ls cpus ds fy, 'kh?kzrk ls ckgj dwn tk,¡xsA

	 (b) 	ifjpkyd dks cqyk,¡xs] mls iSls nsaxs vkSj fVdV 
ys ysaxsA

	 (c) 	utnhd cSBs fdlh dks iSls ns nsaxs rkfd og 
ifjpkyd dks iSls ns nsA

	 (d) 	pkyd dks iSls ns nsaxsA

	61- 	cPpksa esa eqÝr dkWfi;k¡ leku :i ls ck¡Vh xbZA çR;sd 
cPps dks feyus okyh dkWfi;ksa dh la[;k dqy cPpksa 
dh la[;k dk vkBok¡ Hkkx FkkA ;fn cPpksa dh la[;k 
vk/h gksrh rks çR;sd cPps dks 16 dkWfi;k¡ feyrhA dqy 
fdruh dkWfi;k¡ forfjr dh xbZ gS\

	 (a) 	32 	 (b)	128

	 (c) 	512 	 (d) 	256

	62-	vki ,d {ks=k ds iqfyl v/h{kd gSA vki ,d cgqr 
vko';d dk;Z ds fy;s tk jgs gSaA jkLrs esa vkidks ,d 
O;fDr feyrk gS tks xaHkhj :i ls ?kk;y gSA vki D;k djsaxs\

	 (a) 	mls NksM+ nsaxs vkSj vius xarO; dh vksj c<+ 
tk,¡xsA

	 (b) 	?kk;y O;fDr dks vLirky ys tk,¡xsA
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	 (c) 	 Order one of your subordinates to come and 
take the person to the hospital.

	 (d) 	 Hire a taxi, send him to the hospital and then 
proceed to your distination.

	 63. 	Statements : All scientists are fools.
					     All fools are illiterate.

		  Conclusions:	  

			   I.	 All scientists are illiterate.

	 II.	 All illiterates are scientists.

	 III.	 All illiterates are fools.

	 IV.	 Some illiterates would be scientists.

	 (a) 	 Only I and IV follow. 

	 (b)	  Only II follows.

	 (c) 	 Only III and IV follow. 

	 (d) 	 Only IV follows.

	 64. 	A told B, ‘Yesterday I met the only brother of the 
daughters of my paternal grand mother.’ Whom 
did A meet ?

	 (a)	 Cousin 

	 (b)	 Brother 

	 (c) 	 Nephew 

	 (d) 	 Father

	 65.	 Statement : “Use ‘Riya’ cold cream for fair 
complexion” – An advertisement.

		  Assumptions :
	 I.	 People like to use cream for fair complexion.

	 II.	 People are easily fooled.

	 III.	  People respond to advertisements.

	 (a) 	 Only I is implicit. 

	 (b) 	 Only I and II are implicit.

	 (c) 	 Only I and III are implicit. 

	 (d) 	 None of the above.

	 66. 	Statement : Children are influenced more by their 
teachers now-a-days.

		  Assumptions :
	 I.	 Children consider their teachers as their 

models.

	 II.	 Children’s most of the time is spent in 
schools.

	 (a) 	 Only I is implicit. 

	 (b)	 Only II is implicit.

	 (c) 	 Both I and II are implicit. 

	 (d) 	 None of these.

	 (c) 	vius ,d v/huLFk dks vkns'k nsaxs fd og vk, 
vkSj ml O;fDr dks vLirky ysdj tk, 

	 (d) 	,d VSDlh fdjk;s ij ysaxs] ml O;fDr dks 
vLirky Hkst nsaxs rFkk fiQj vius xarO; dks 
tk,¡xsA

	63-	dFku% lHkh oSKkfud ew•Z gSaA

	 	 	 lHkh ew•Z vui<+ gSaA 

	 	fu"d"kZ%

	 I-	 lHkh oSKkfud vui<+ gSaA

	 II. 	lHkh vui<+ oSKkfud gSaA 

	 III. 	lHkh vui<+ ew•Z gSaA

	 IV. 	dqN vui<+ oSKkfud gksaxsA

	 (a) 	fliQZ I o IV vuqlj.k djrs gSaA

	 (b) 	fliQZ II vuqlj.k djrk gSA

	 (c) 	fliQZ III ; IV vuqlj.k djrs gSaA

	 (d) 	fliQZ IV vuqlj.k djrk gSA

	64- 	A us B ls dgk] ^dy esa viuh nknh dh iqf=k;ksa ds 
bdykSrs HkkbZ ls feykA* A fdlls feyk\ 

	 (a)	 ppsjk HkkbZ 	 (b) 	HkkbZ 

	 (c) 	Hkrhtk	 (d) 	firk

	65- 	dFku% ¶xksjs jax ds fy, ^fj;k* dksYM Øhe viuk,¡¸ 
µ ,d foKkiuA

	 	iwoZ/kj.kk%

	 I.	 yksx xksjs jax ds fy, Øhe dk mi;ksx djuk 
ilan djrs gSaA

	 II.	 yksx vklkuh ls ew•Z curs gSaA

	 III.	 yksx foKkiu ds çfr çfrfØ;k djrs gSaA

	 (a) 	dsoy I vUrfu±fgr gSA

	 (b) 	dsoy I o II vUrfu±fgr gSA

	 (c) 	nksuksa I o III vUrfuZfgr gSaA

	 (d) 	buesa ls dksbZ ugha

	66-	dFku% vktdy cPps vius vè;kidksa ls vf/d 
çHkkfor gksrs gSA

		 iwoZ/kj.kk%

	 I.	 cPps vè;kidksa dks viuk vkn'kZ ekurs gSaA

	 II. 	cPpksa dk vf/dre le; Ldwy esa O;rhr gksrk 
gSA

	 (a) 	dsoy I vUrfuZfgr gSA

	 (b) 	dsoy II vUrfuZfgr gSA

	 (c) 	nksuksa I o II vUrfuZfgr gSaA

	 (d) 	buesa ls dksbZ ugha
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	 67. 	The nearest coming year, which will be a perfect 
square is

	 (a) 	 2018 	 (b) 	2020 

	 (c) 	 2025 	 (d) 	2032

	 68.	 The number of multiples of 7 from 123 to 321 is
	 (a) 	 25 	 (b) 	26 

	 (c) 	 27 	 (d) 	28

	 69. 	The average of 10 numbers was found to be 15. 
Later it was found that one number 36 was wrongly 
copied as 26. Correct average is

	 (a) 	 20 	 (b) 	18 

	 (c) 	 16 	 (d) 	14

	67-	,d iw.kZ oxZ ds :i esa lcls utnhdh esa vkus okyk 
o"kZ gS%

	 (a)	 2018 	 (b)	2020

	 (c) 	2025	 (d)	2032

	68-	123 ls 321 rd 7 ds xq.ktksa dh la[;k gS%

	 (a) 	25 	 (b)	26

	 (c) 	27	 (d) 	28

	69-	10 la[;kvksa dk vkSlr 15 çkIr fd;k tkrk gSA ckn 
esa irk pyrk gS fd vkSlr fudkyrs le; ,d la[;k 
36 dks xyrh ls 26 fy•k x;k FkkA lgh vkSlr gS

	 (a)	 20	  (b)	18

	 (c)	 16	  (b)	14

Note : Read the following passage carefully and answer 
the questions (From 70 to 72) given below :
What was his great power over the mind and heart of 
man due to? Even we realise that his dominating passion 
was truth. That truth led him to proclaim without ceasing 
that good ends can never be attained by evil methods, 
that the end itself is distorted if the method pursued is 
bad. That truth led him to confess publicly whenever he 
thought he had made a mistake – Himalayan errors he 
called some of his own mistakes. That truth led him to 
fight evil and untruth wherever he found them, regardless 
of the consequences, that truth made the service of the 
poor and the dispossessed the passion of his life; for 
where there is inequality and discrimination and 
suppression, there is injustice and evil and untruth. And 
thus he became the beloved of all those who have 
suffered from social and political evils, and the great 
representative of humanity as it should be. Because of 
that truth in him where he sat became a temple and where 
he trod was hallowed ground.
	 70. 	“Himalayan errors” in the passage stands for
	 (a)	 errors that cannot be corrected 
	 (b)	 serious errors
	 (c)	 minor errors 
	 (d)	 None of the above
	 71. 	What makes the person described in the passage a 

great representative of humanity?
	 (a) 	 He never made mistakes.
	 (b)	 While fighting evil, he always thought of 

consequences.
	 (c)	 He made the service of the poor and 

dispossessed his passion of life.
	 (d) 	 He was indifferent to social and political 

evils.

	 72. 	According to the great man, described in the 
passage which one of the following is not true, if 
evil methods are adopted ?

	 (a) 	 The good ends will never be attained.
	 (b) 	 There is a strong connection between ends 

and means.
	 (c) 	 The ends get distorted.
	 (d) 	 Evil methods can help to achieve good ends.
	 73. 	What is the antonym of “complicate”?
	 (a) 	 Analyse 	 (b)	 Easy 
	 (c) 	 Simplify 	 (d)	 Complex
	 74. 	Out of the given alternatives, choose the one that 

can be substituted for the phrase – ‘study of the 
origin and history of words’ :

	 (a) 	 Anthropology 	 (b)	 Morphology 
	 (c) 	 Linguistics 	 (d)	 Etymology
	 75.	 Which one of the given alternatives best expresses 

the underlined part of the sentence ? Nothing can 
be done when the whole system is paralysed by 
inertia.

	 (a) 	 Corruption 
	 (b)	 Weakness 
	 (c) 	 Politics 
	 (d) 	 Sluggishness
	 76. 	Out of the given alternatives, choose the one that 

correctly describes the meaning of the underlined 
phrase :

		  The love of his wife Bore him up in the midst of 
all his problems.

	 (a) 	 sustained 	 (b)	 decided 
	 (c) 	 humbled 	 (d)	 None of these
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ç'u la[;k 77 ls 82% fuEufyf•r x|ka'k ds vk/kj ij uhps 

iwNs x;s ç'uksa ds mÙkj nksft;s%

	 	vki 'kq¼ ân; ls bl ckr ij fopkj djsa fd ekrk] 

ekr`Hkwfe vkSj ekr`Hkk"kk dk vki ij Hkh Í.k gSA ,d tuuh 

vkidks tUe nsrh gS] ,d dh xksn esa •sy&dwn dj vkSj 

•k&ihdj vki iq"V gksrs gSa vkSj ,d vkidks vius Hkkoksa dks 

çdV djus dks 'kfDr ns] vkids lkalkfjd thou dks lq•e; 

cukrh gSA ftldk vki ij bruk midkj gS] blds fy;s dqN 

djuk D;k vkidk ije dÙkZO; ugha gS\

	77-	mi;ZqDr x|ka'k dk mfpr 'kh"kZd gS 

	 (a) 	ekrk

	 (b) 	ekrÍ.k

	 (c) 	lq•e; thou 

	 (d)	 dÙkZO;

	78-	mi;ZqDr x|ka'k esa ftudk ½.k crk;k x;k gS] mUgsa ,d 

'kCn esa fyf•,A

	 (a) 	lekt

	 (b) 	jk"Vª 

	 (c) 	ekr`

	 (d) 	buesa ls dksbZ ugha

	79- 	mi;ZqDr x|ka'k esa ̂ 'kq¼ ân; ls bl ckr ij fopkj djsa* 

esa ^'kq¼* D;k gS\

	 (a) 	 fo'ks"k.k

	 (b) 	loZuke

	 (c) 	laKk

	 (d) 	fØ;k

	80- 	mi;ZqDr x|ka'k esa fdl thou dks lq•e; cukus dk 

mYys• gqvk gS\

	 (a) 	lkekftd 

	 (b) 	lkalkfjd

	 (c) 	O;fDrxr

	 (d)	 vkfFkZd

	81- 	mi;ZqDr x|ka'k esa Hkko çdVhdj.k dks 'kfDr fdlds 	

}kjk çkIr gksrh gS\

	 (a) 	tuuh

	 (b) 	firk

	 (c) 	ekr`Hkk"kk 

	 (d) 	lekt

	82- 	mi;ZqDr x|ka'k ds vuqlkj •sy&dwn dj vkSj •k&ihdj 

fdldks xksn esa iq"V gksrs gSa\ 

	 (a) 	tuuh 

	 (b) 	iRuh

	 (c) 	nknh

	 (d) 	ekr`Hkwfe

	83- 	̂va/h ihls] dqÙkk •k;* yksdksfDr dk vFkZ gS

	 (a) 	gkfu gh gkfu gksuk

	 (b) 	v;ksX; 'kkld ds dkj.k dqiz'kklu 

	 (c) 	ykHk de] gkfu T;knk

	 (d) 	ekfyd ls nq'euh djuk

	84- 	̂fcuq in pys] lqus fcuq dkuk* esa dkSu&lk vyadkj gS\ 

	 (b) 	'ys"k

	 (a)	 ;ed

	 (c) 	:id

	 (d)	 fOkHkkouk

	85-	^yk'k* 'kCn fdl ewy Hkk"kk dk gS\

	 (a) 	vjch

	 (b) 	 iQkjlh

	 (c) 	rqdhZ 

	 (d)	 laLo`Qr

	86- 	̂b;k* çR;; ls cuk 'kq¼ 'kCn gS

	 (a) 	Mfc;k

	 (b) 	fMc;k

	 (c) 	fMfc;k

	 (d)	 Mch;k

	87-	^/uq"Vadkj* 'kCn dk laf/&foPNsn gS 

	 (a) 	/uq% $ Vadkj 

	 (b) 	/uq"k $ Vadkj

	 (c) 	/Ukq $ LVadkj

	 (d) 	buesa ls dksbZ ugha

	88- 	̂?ku';ke* 'kCn esa dkSu&lk lekl gS\

	 (a) 	f}xq

	 (b) 	deZ/kj;

	 (c) 	cgqczhfg

	 (d) 	rRiq:"k

	89- 	̂jktk* dk i;kZ;okph 'kCn ugha gS% 

	 (a) 	Hkwiky 

	 (b) 	/j.kh/j

	 (c) 	Hkwifr

	 (d) 	HkwLokeh
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	90-	;fn A + B = 2C rFkk C + D = 2A rc
	 (a) 	A + C = 2D 	 (b) 	A + C = B + D
	 (c) 	A + D = B + C	 (d) 	A + C = 2B

	 91. 	;fn  a 3 1= + , rc a4 + 4

16
a

 dk eku gS

	 (a) 	 53 	 (b) 	54 
	 (c) 	 55 	 (d) 	56
	92-	950 rFkk 1050 osQ chp fdruh la[;k,¡ 7] 8 vkSj 14 

ls Hkkx nsus ij 'ks"kiQy 6 nsrh gSa\
	 (a) 	1 	 (b) 	3
	 (c) 	4	 (d) 	buesa ls dksbZ ugha

	93-	618 × 711 × 913 osQ vfoHkkT; xq.ku[kaMksa dh la[;k gS
	 (a) 	73 	 (b) 	74
	 (c) 	75	 (d) 	76
	 94. 	,d fuf'pr owQV Hkk"k k e s a ‘PARENTS’ dks 

‘RCTGPVU’ fy[kk tkrk gSA mlh owQV Hkk"kk esa 
‘CHILDREN’ dks oSQls fy[kk tk,xk\ 

	 (a) 	 EFJKCPCM 	 (b)	 EJKNFTGP 
	 (c) 	 DGJKCQDO 	 (d) 	MDGFKSNB
	 95. 	uhps fn, x, leqPp;ksa esa ls la[;kvksa osQ ml leqPp; 

dks pqfu, tks leqPp; (12] 20] 60) osQ leku gS\
		  (8, 12, 24), (15, 12, 90), (7, 11, 75), (6, 16, 90)
	 (a) 	 (8, 12, 24) 	 (b)	 (15, 12, 90) 
	 (c) 	 (7, 11, 75) 	 (d) 	(6, 16, 90)
	 96. 	uhps nh xbZ Js.kh eas yqIr in (\) Kkr dhft;s%
		  C1L, F4O, I9R, L16U, ?
	 (a) 	 N25X 	 (b) 	O25X 
	 (c)	 N25Y 	 (d) 	N20Z
	 97. 	uhps nh xbZ Js.kh eas yqIr in (\) Kkr dhft;s%
		  1, 1, 3, 9, 6, 36, 10, 100, ?, 225
	 (a) 	 12 	 (b) 	13 
	 (c) 	 14 	 (d) 	15
	 98.	 uhps nh xbZ Js.kh eas yqIr in (\) Kkr dhft;s%
	 	3624, 4363, 3644, 4563, 3664, ?
	 (a) 	 4363 	 (b) 	4563 
	 (c) 	 4763 	 (d) 	4263
	 99. 	fuEufyf[kr esa iz'uokpd fpUg (\) osQ LFkku ij D;k vk,xk\

7 11 13
17 19 23
29 31  ?

	 (a) 	 30 	 (b)	 33 
	 (c) 	 37 	 (d) 	35
	100. 	;fn 84 +  72 = 45
	               63 +  41 = 33
		  rks 94 +  82 dk eku gS
	 (a) 	 56 	 (b)	 59 
	 (c) 	 45 	 (d) 	65

	 90.	 If A + B = 2C and C + D = 2A, then
	 (a) 	 A + C = 2D 	 (b)	 A + C = B + D
	 (c) 	 A + D = B + C 	 (d)	 A + C = 2B

	 91. 	If  a 3 1= + , then value of a4 + 4

16
a

 is

	 (a) 	 53 	 (b) 	54 
	 (c) 	 55 	 (d) 	56
	 92.	 How many numbers between 950 and 1050 leave 

a remainder of 6 when divided by 7, 8 and 14 ?
	 (a) 	 1 	 (b)	  3 
	 (c) 	 4 	 (d) 	None of these
	 93. 	The number of prime factors in 618 × 711 × 913 is
	 (a) 	 73 	 (b) 	74 
	 (c) 	 75 	 (d) 	76
	 94. 	In a certain code language ‘PARENTS’ is written 

as ‘RCTGPVU’. How will ‘CHILDREN’ be 
written in the same code language?

	 (a) 	 EFJKCPCM 	 (b)	 EJKNFTGP 
	 (c) 	 DGJKCQDO 	 (d) 	MDGFKSNB
	 95. 	Choose the set of numbers among the following 

sets, which is similar to the set (12, 20, 60)?
		  (8, 12, 24), (15, 12, 90), (7, 11, 75), (6, 16, 90)
	 (a) 	 (8, 12, 24) 	 (b)	 (15, 12, 90) 
	 (c) 	 (7, 11, 75) 	 (d) 	(6, 16, 90)
	 96. 	Find the missing term in the following series : 
		  C1L, F4O, I9R, L16U, ?
	 (a) 	 N25X 	 (b) 	O25X 
	 (c)	 N25Y 	 (d) 	N20Z
	 97. 	Find the missing term (?) in the following series :
		  1, 1, 3, 9, 6, 36, 10, 100, ?, 225
	 (a) 	 12 	 (b) 	13 
	 (c) 	 14 	 (d) 	15
	 98.	 Find the missing number in the following series:
		  3624, 4363, 3644, 4563, 3664, ?
	 (a) 	 4363 	 (b) 	4563 
	 (c) 	 4763 	 (d) 	4263
	 99. 	Which number will replace the question mark (?) 

in the following :
7 11 13
17 19 23
29 31  ?

	 (a) 	 30 	 (b)	 33 
	 (c) 	 37 	 (d) 	35
	100. 	If 84 +  72 = 45
	              63 +  41 = 33
		  then the value of 94 +  82 is
	 (a) 	 56 	 (b)	 59 
	 (c) 	 45 	 (d) 	65


